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w=b=0.1

for x_i, y_iin zip(x,y):
y_hat=x_i*w+b
err=y_i-y_hat
w_rate=x_i
w=w+w_rate*err

b=b+1*err

#w &b E7/8f

#x gl BfLIE LMES O y 2 AL
#ySty of X} A2t
#o BStE Y

#w H3HE B

#b HiBtE EHY

- HEEAHMZY L0 (YEYRE R

from sklearn.datasetsimportload_file
import matplotlib. pyplot as plt
import pandas as pd
fname = QFileDialog.getOpenFileName(self, 'Open file', */'}
df =pd.read_csv(fname[0])
x = dff"longitude"]
y = dff"latitude"]

w=b=0.1
foriin range(1, 1000) :

forx_i, y_iin zip(x, y):

y_hat=x_i*w+b

w=w+w_rate * err

| b=b+l*er

| plt.scatter(x, y)

| pt1=(-0.1,-0.1 *w +b)

| pt2 =(0.15,0.15 *w+b)
plt.plot{[pt1[0], pt2[0], [pt1[1], pt2[1]])
pltxlabel('longitude’)
pltylabel('latitude’)

plt.show()
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